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Bl Alg} =2]Alo] Aut TRUE or FALSE

7+3=21

> 7/3 #2.333333 (&AM (comment)to] #)

7%/ %3 #2
T%%3 #1
4==4 #TRUE
41=4 #FALSE
4>3 #TRUE
4=>3 #TRUE
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&=and, |=or,

& | = #HHo AA vz, &&, || ~
>x=c(1,2,3) # WEUESY], c()= HEg A&
> x>1 & x<4 # FALSE TRUE TRUE

> x>1 && x<4 # FALSE
> xl=1 & x>2 # FALSE FALSE TRUE
> xI=1 && x>2 # FALSE
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FHHY, 4=)
<, = 9%

> print(1.2345, 2)

> cat(1.2345, '\n',2)
> cat(1.2345, 2,
> cat(1.2345, 2,

> cat(1.2345, 2,

sep="
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sep="") # sep~ L&At XA, default=""
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* 1.4 gmAQl Wiets

> x<-¢(1,2,3,4)

> mean(x); sd(x); sum(x): range(x)

> choose(4,2) #4C2 7] 291 x9] 758t 23k
> combn(x,2) # 37] 291 x9] 7I=3st &3t

> seq(10) # 1~10

> rep(7, 4) # repeat 7 4 times
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1.5, gimAQl fAIGHS

ceiling(x) : xol49] A4% Ayt

floor(x) : xolste] Fo% &2

trubce(x) © xo|A A&47dolst A A

> ceiling(2.1); ceiling(2.8); ceiling(-2.1); ceiling(-2.8)
> floor(2.1); floor(2.8); floor(-2.1); floor(-2.8)

> trunc(2.1); trunc(2.8); trunc(-2.1); trunc(-2.8)

round(x, digit=m) : m>0~A57dotf] Aje]am+1oA BhadoiA] AR A2l

m<0~2579) Atelamolq wrewshA Hae ma
default: digit=0

round@4olA Wedel J1Edel g 52 £osop & - 5% o
Hetes 710l AAEo s,

> round(1.241,2); round(1.246, 2):round(-1.241,2); round(-1.246,2)

> round(123, -1); round(127,-1)

> round(10.2); round(10.9); round(-10.2); round(-10.9)

> round(0.5); round(1.5); round(2.5)

5. ARAE Y X

(BA): W4ot w2tk olsh)

AR FE(RFRFE): class()

vector, matrix, data.frame, list, factor
ZAA1Q] At&m £/ mode(), length()

numeric : Go]E9] 27} K}
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logical: +=2]&. TRUE, FALSE

character: At

complex: B4

*
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vector Q1 732, class()==mode()

a<-c(1,2,3); mode(a); length(a) ; class(a)
b<-c(TRUE, FALSE): mode(b); length(b) : class(b)
c<-c('Tommy', 'Sally'); mode(c); length(c) ; class(c)
d<-c(1+2i,2+31) ; mode(d); length(d) : class(d)
e<-¢(1,2,"A"); mode(e); length(e); class(e)

m <- matrix(1:10, 2) # s§=

m

mode(m); length(m); class(m)



